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When the Paris agreement was settled nearly two years ago, one of its key ambitions was
dismissed as almost impossible - the notion of limiting the rise in the global average
temperature, compared with pre-industrial times, to 1.5°C. The world had already
warmed by |°C.

Now a new analysis of the computer models used to assess future warming has found that
the forecast is slightly overestimating how much temperatures will rise. The world should
have been a third of a degree warmer by 2015 than it actually was, and that means, the
scientists say, there is a bit longer than previously thought to reduce the greenhouse gas
emissions driving the rising temperatures.

So, one of the authors of the study, Prof Myles Allen of the University of Oxford, says the
Paris target is still feasible.

The scientists are anxious that their study is not used by climate change sceptics to
undermine current policy. They stress that the threats posed by global warming
have not receded, and the governments around the world still need to respond urgently by
cutting greenhouse gas emissions.
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I. Has the world’s temperature risen since the pre-industrial times?

2. What does the new analysis of the computer models found about the forecast?
3. Which word in the text means ‘able to be achieved’?

4. What do the scientists suggest governments should do to achieve the Paris agreement?

ER

|. Has the world’s temperature risen since the pre-industrial times?
The world had already warmed by |°C.

2. What has the new analysis of the computer models found about the forecast?
A new analysis of the computer models has found that the forecast is slightly
overestimating how much temperatures will rise.

3. Which word in the text means ‘able to be achieved’?
Feasible.

4. What do the scientists suggest governments should do to achieve the Paris agreement?
Governments around the world still need to respond urgently by cutting
greenhouse gas emissions.
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